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a) Perfarmance Management defined ™
ega pmr performance
ts will be met
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1)  Variable Cogt , 1) E’ixed Cost
i) Transfe E‘P{!LEHU My iv) None of the above
¢)  Which of thetfollowi mw is not an example of a responsibility center? - v
. 1) o Invest cm‘(mﬂ" i)  Contribution center
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i) NPV Method v)
e) Non-profit and government organizatio

i) Do not measure succ

i) Areunable to use the

iv) None of the above
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i)  Help turn strategy into actioh
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" of the above

The" te;m ‘EVA’ is used for
i)x* Extra Value Analysis

ii) Economic Value Added ‘
i) Expected Vﬁiue Analysis ‘}

iv) Engineering Value Aqg

o [10]
Principles of Managemem A ud‘at

Processfof Gapital Budg ting

Features ofE-C Qmmwﬁ:e

Explain‘in details GO sernance of Non Profit Organizations? > [10]

OR
Define Capital Budgeting. Discuss the purpose a&\qﬁ mp ) ance of capital
budgeting.

iples of Social Auditin
[10]

What do you mean by auditing? Explain the
detail.

OR

How ABC Analysis is Performance |
Explain the Classification of items int
performance measure o1 f ABC analysis:.
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POR Company heavily decentralized. Division A has always acquired
some components from Division B. However division B has intimated
increase in its price to Es. 150/uni ' Manager of Division A has opposed
the same since similar product is available in outside market at
Rs.120/unit. Division B has supported its price rise as it 1s bearing heavy
depreciation charge.on spec alized Equipment they have bought specially

e Additipnal information is as follows:- [10]

'”Vi;’bﬂ A-10,000 units p.a.

B’s Variable s%@w Rs. 100/unit

B’s Fixéd, costs - Rs. 30/unit

e required to advice -

) Suppose there is no alternate use of divisiomyBls capacity, Will the
company as a whole benefit if A buys the,sopponent from outside

@afFRs 120/unit.?

i) Suppose outside market pri®e ‘of the”component drops by
~ Rs.30/unit, what would you sugiest to the manager of division A?
5 % %,

An Enterpise wanted (@ diydup thetiransfer price on cost pl
Return on Investment Basig, tsing: following information 1
P’ division for the ycat"24 .
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1) Determine ﬁ’]@ trarist v pm,e fosr division P

i) If the volume a;nu Cugréﬁf assets are reduced by 10%. What will be
thevirhpaCt on transfer price” N

¢ Pieed Assets Rs, 15,00,000

5) N Current Assets Rs.10,00,000

3)  Debtors Rs.5,00,000

4)  Annual fixed cost of the division Rs.15,00.6

5)  Variable cost Rs.40/unit

6) Budgeted volume (units) 2.50,000



